EFREXRFZZO-DOERMLHARENEEK
MR
VRREZ R 608 (% F 10 H 4T

5 TEEENFEALEA L, K”"’%‘Eﬁh%ﬂé&f_ &N x %K.
BHRBE (EANFE 3, £ 245

H

1

[ 11.2x508, (+tar’) —15cosx -1 BEENEFN, Ma=

A -1 B) 1 (C) -2 (D) -4

n?+1-n' +1
[ ]2 m22” R _
e n+1

(A) -1 (B) 1 (C) v2-1 (D) 0
[ 13%y=/(nx)E F(NHTE, Ndv=

(A) f'(Inx)dx (B) [f(Inx)]'dx
(C) f'(lnx)l-dln.x (D) f'(lnx)idx
he x

[ 14 8x<im, F(0>0; £x>1. f(0)<0, Tr=1X5E2
FE ()8

(A) EE (B) BAEE (O MEE (D) UEHELTE
[ ]575f(¥ 12 F R Esinx, T FO)E—NEFREHE

(A) 1+sinx (B) l+cosx (C) l1-sinx (D) 1-cosx

[ 16R-URREEFAEETE Y +p'+qy=fx)E Z N B
By =x, yy=e. yy=e, MZBHEH( ).

(A) x+Ce" +C,e™ , (B) Cix+C,e" +Ce™

(C) x+Cy(e"=e)= C.a=e") (D) Cyle"—e™)+Cy (e -x)



R RY A TO—METEF R AL ER

i3 B
T4 608 K 0K AT
T FHAELASEENAL TESERHAL, B R

[ 17%¢q,0,% 3 TEFAEE FRE 4 =bBF/NAE KA,

(=2, bk AEEEE, HREATREBEA Y
(A) ko, +ka, (B) ko, ~(1- ko,
C) a,+kla, —a,) D) a,+kla, —«)

[ 18%P(A)=08PB)=071,P4B) =08, UTHELEHNE
(A) B4 5BAE R (B) A5BEF

(C) Bo 4 (D) P(4U B) = P(4) + P(B)
—.EHSE (A, A0

|

B y=f)EFEy-l+xd=0FZ. I/ (0O)=__

M)a%h@ =2013. & £3a=
X—> _Y
g A = 1 1 ]
118 Z 02 FAUR Im s T
AN =1 AT =2 V= (n=1)
NERE
DRHEYEENREET PY ) RETHESE 1) =145x" = 30x




Eh il kzZ

O—mFMtAREANEZK
(AT iV

RAEL TR 608 HF 3 H4m
A2 MEERELPEELRAL, AREARAL L, FULHR.
: | _
4% %[ 4 —{ 1, JABEETE 47 =
3 7 :
15.E AL s H &Y 2 I
MEHC=__ s 13 52
I 1o C  16C
Z.HER (G E s 43 5) € oac sc e
,) N X
16,17 EAR R lim — Kﬂ —IJ
x—0) 3 y
N e e < 7'—
17.1‘1‘%;’?7?7\_" 1m( iChEd >dx.
Voo I+ x"
18.3% B fF(x,v)=x+(y—1Darcsin ‘;“—Y TE f.(x]).
Iy
x 1 1 1
oo lox 11
191 Z 4771 5 ESEES
1 1 x 1
|
1 1 1 x
20 B f(x) Ex=081812 AELE, 2 lim ) =2, iITE

AQEsiES

AFHNEEX Y HERTARSE. EHEFRELN

—{x=¥)

x>0,y>0,

0 others.

f(x,y)={




RN X2 O —HMEM-HREANZEER
AV 7
WRIEZHR: 608 % =4 0 E4m
TE AL EUREALREER L, A EEEERAL L, FUELR,

RZ=X+YHHEZTE I

W, BEE (505 105, £3504- )

22 B z=flxg)x+gM] X FFH /A MELEE =
’O ‘ a
BITEZE

Eie J‘[ a’xdy, EFDEE y=xr=1x=0F &K
D

FHEH

4REH y=y(x)ELE. Hy(x)= J;)»‘(z)dzf—xﬁtl, Fl %57 2 kB

X 0<x<]
J(x)=1A4(3-x) 1 <x<3,
0 others

ZEY f(OE0]EEE, FOD AT A S1)=0, LH:
Frcee(0)), #%F 2f(e)+cf(c)=0.




